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Choose the correct answer: 8m9cm is written as
1. 8x100+9		2. 8x10000+9		3. 8x1000		4. 8x10+9
2. Choose the correct answer: 2km 5m written as
1. 2x100+5		2. 2x1000		3. 2x1000+5		4. 2x10+5
3. Choose the correct answer: The standard unit of measuring capacity is ______
1. ki			2. L			3. M			4. km
9. Choose the correct answer: Litre is greater than ________
1. kg			2. Kl			3. Km			4. ml
10. Choose the correct answer: The standard unit of mass is _______
1. g			2. Kg			3. Mg			4. L
8. Anu used 25 cm yellow ribbon and 42 m red ribbon to wrap and decorate a gift. Find the total length of the ribbon?
9. A tailor had 77cm of cloth to make hankies. If 23 cm of cloth was left, how much cloth was used to make the hankies?
10. Madhu bought 2m 50 cm to stitch a frock and 5m 20 cm for shirt. How much cloth did she buy in all?
11. Shelly purchased 40 m 200 cm long rope and Jenny purchased 16 m 370 cm long rope. What is the total length of the ropes which both of them purchased?
12. Maya used 1 m 50 cm of red ribbon and 4 m 28 cm of blue ribbon to make a flower. How much ribbon did she use in all?
13. Peter wants to fence the park in front of his house on three sides, which measure 152 m 40 cm, 205 m 10 cm and 310 m 39 cms. Find the total length that is to be fenced.
14. Tailor used 1 m 235 cm of cloth to make a shirt and 2 m 105 cm to make trousers. What is the total length of cloth used by the tailor to make a shirt and trousers?
15. Ron had 54 m 20 cm of ribbon to make flowers. 29 m 39 cm was left unused. How much ribbon was used to make flowers?
